/Z M: Marks s

,/I. Answer any FIVE full questions,
L: Bioom’s level, C: Coms utcomes.

Max. Marks: 100

choosmg ONE full question from each modile.

. Compute the F1rst harmomcs of the Fourier serles of f(x). Given the table

l
’ X

'57E}27-cr

%
>
N

A Express Y as

. | Find the Fourier transfor;

a. ‘ Fmd the F ourier uansfomi%of‘

for

and hence deduce that _[ —_— d

for QEV;YVX >
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7 L3 | CO2 |
b. = Obtain the Fourier Cosine transform of f(x) =
¢. | Solve the Integral equation 13| Cco2
& I-a ,
J- f(())cosa@d@z{ |
3 0o , E
Q5 |a. L2 CO3
L3 | CO3
b.
¢. | Solve the difference equation y.,}z — 4y, = 0. Given'that yo=0 and y; =2 L3 | CO3
Q6 |, . L2 | CO3
.| ‘
PR My : L3 | CO3
b. Compute the Inverse Z — transform-o ————?—’—Z—-i%%—— .y R
f (Sz—1)(5z+2)f,
¢. | Solve the difference equatmn Upiz * Gl + 9up 3 ith up = uy = 0, using L3 | CO3
7 — transforms. — o
- Module
Q.7 |a. | Solve (D'-m)y=0. L2 | CO4
b. | Solve (D~ 2D~ )y =Sinx + ¢* L3 | CO4
Py & L3 | CO4
c. Soiyp xg-y«+(1—y—:—l—.
1 dx? dx? x
| )
L
; ‘ OR B
Q8 | | dy L L2 | CO4
ha’| Solve o s ouiay T ot 1 ' CMRIT LIBRARY
‘ 5 / BANGALORE - 560 037
b. Solve the:L : geﬁdre s form of Linear equatmn L3 | CO4
(1+x) ———+(1~s x)——+ y.= Sin 2 [log(1+x0]. i
dx :
c. h the LCR circuit the charge q on a plate of condenser is given by L3 | CO4
d’ d -
, L 5 g R- d(tl L ‘E sin p t. Solve the above equation.

20f3
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Module - 5 S 3
Q.9 |a. | Find a Least square straight line for the following data & 6 | L2 | COS5
| x1213456j_«
vi6|4,3]5(42])

b. 7| L3 | CO5
e 7 | L3 | CO5 |
191
| 7.8
517
Q10 |a. F bx - 6 | L2 | CO5
x! 112 L1 S ‘
yi10]12]13T16]19
b. The followmg table gives the heights of Father (x) and S()Y,ﬁ"s"\‘(y) ) 7 { L3 | CO5
x | 65 66}{67 67168 169 | ' ,
y | 67 | 68 |65
correlation. ' CMRIT HBRAW ‘
| ..’ BANGALORE - 560 037
c. | Determine the rank. correlatlon for the: fellowmg data whlch shows the| 7 | L3 | CO5
marks obtained initwo quizzes in mathematlcs e
Marks inifirst quiz X 8176 917
Marks-in first quiz Y 518 8.6

e
a5
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